Y dIDINAI
viH3dos3i

yrose'ol vjy3dosal so0! NANYLYO4 €e ICion A | nu3 esed sefelapad sauopeyody (Y3034 SINOIOV.LIMOLY-Z 5102 BILI3USD eplied -2
vboge'ol vHIyosaL S001 NNWVLHOL €€ [dial A | qu3 ered sejesapad sauopepody [YH3A34 SINOIOV.LHOLY-Z §102 BIUIUSY EpIRd -2
vvose'ol V[y3dos3L 500! NNWVLHOd €€ idiay Asens | nug eed sejesspad sauopepody (Y3034 SINOIOV.LIMOLY-Z G102 BOLRUIY epfled -2
vrose'ol vid3dos3aL S001 NNWVLYOS €€ 1diolt A seag | qu3 esed sajesapad sauopepody [YHIA34 SANOIOV.INOLY-Z 5102 BIUUIY BPRIEd T
vv9sg'ol Y[¥3yos3L sool NAWVLYOS €€ 1 A seas £l qu3 esed sajesapad sauopepody (Vy3a34 SINOIOV.INOLY-Z 5102 BIUUIY BPRIEd T
ybose'oL viy3dos3aL sool NAWVLYO4d €€ 1dio] A £l qu3 eied ssje1apa sauopepody [Vy3Q34 SINOIOVINOY-Z 5102 E3IUUIY BpRIed -7
yyoge’ol V[y3ados3L sool NAWYLYOS €€ A ] qu3 esed sajesapad saucioepiody (V334 SINOIOVINOCY-Z 5102 BILUIY eplied -'Z
y¥ose’olL v[¥3dos3L sool NNWVLYOL €€ A £l qu3 esed sajesapad m.u:o_umto&( IV¥3034 SINOIDVLIYOdY-Z §L02 BOURUIY BPRIEd -2
¥v'98e'0lL AJEEE[eSEIR S00! NNWVLYO4 €€ A £l qu3 esed sajesapad sauopepody Vy3Q34 SINOIOV.LIMOCY-Z 5102 ougjsandnsald eweiBoid -'L
OEJONVNIL YHOLNDAMA O9uioddsd YWyHIoNd VWVH90dd NOIDdINOS3a ol OWVY NOIDdI¥OS3a 0syNd3y OdlL 0s¥N23A 071210 0ylsio3d 30 OdLL

OLN3IIWIONTY VION3ON3d3a OINIANOD OaNO4 YIWVH90dd 3AVID 3AVID




IV AISINTA
vin3yosS3t

5102 30 IYLSIWIYL ¥3€ 130 VNLDVD 8L'Z0E'6LE 81'Z0E'61E 81'Z0E'6LE 81°20E'61LE 81°Z0E'6LE 00°000'008 00°000'008 166 4 i
5102 30 IHULSIWIML ¥IE T3A YHNLDYD 06°ZhE'LL 06ZVE'LL 06°ZVE'LL 06ZVE'LL 06°ZVE'LL Z1'65L'68% zI'65L'68Y 343 (4 =
5102 30 IULSTWIML ¥I€ 130 VINLDYD L8'S6Z'6L 18°562'6L 18'562'6L 18'562'6L 18'562'6L 9¥'€90'5€2'L 9¥'€90'6eT' L 1313 4 -
§10Z 30 IULSIWIEL ¥3€ 130 VANLDYD  I¥'Sze’sy 1y'sze'sy \see'sy Iy'sze'sy Wwsze'sy 00°000'02€ 00°000°02€ €25 4 =
§10Z 30 IMLSIWIYL ¥IE T30 VuNLDVO L9'612'019'L 19'612'019'L L9'612'019'L 19'612'019't 19'612'019'¢ 00°000'0¥2'2 00°000'0¥2'2 66€ 3 -
5102 30 IYLSIWIYL ¥IE 130 VHNLAVYD 28'6.8'914'L 28'6L8'9LY'L 2e6L8'9LY'L T86L8'9LY'L z8'6L8'9LY'L 86'€ZL'89¥%'9 86'€ZL'89%'9 Lie 3 =
§10Z 30 IYLSIWIHL ¥IE T3A VINLAVD 9Z'Er6'e8e't gzeve'esT't 9z'ev6'esT't 9Z'EVE'E8T | 9zev6'ese’t 00°000'00S'} 00°000°005't [1:14 3 =
$10Z 30 IYLSINIYL ¥3€ T3A VNLDYD $22s1'esL's yzesi'esl's yzesi'est's yzzsi'esl's vZesi'sst's .vw.mmv.mnm_or YY'ESY'6E6'0L €L 3 -
SIANOIOVANISEO oavovd 0aioyara £ On<wz.m>wn ODFNs_Omu_,zOU Anou nn«nm_.."w_nﬂ_wﬂu = On_<.u_u=n,n:u_z ~oavaoydv <%M_m_._.mmz<m 10 %n.__. MM_M_. SOYOILINITH
OYIIONVYNIS IONVAY. =

svaudvd




